L
Taylor
i + n
0 . E = 2 E g
Building LN
oL £ n fu
3 d o g’h
Products, Inc. T
>m
631 N. FIRST ST. 3o% g
& N
WEST BRANCH, MI 48461 7 23d sk
b = 0e
2 393 g
& m oo g&
2 § m%
TIMBERLINE DELUXE oL :
~——  QVERALL
FRAME WIDTH o
= =
OPAQUE FIBERGLASS SINGLE DOOR — | 89
/‘\ o 'E;" -l
INSWING / OUTSWING ATID g | gk
e o=
" ' Sa ¢ &S
IMPACT 24 |45+
- E |2l e
5 O o B |38
= o e % Q_g‘;
T a 2 e g
= ?( & < o
< 1 o . o a
o (h o. O
L2 IZ >
22 %3 &
EVALUATED FCR USE IN THE STATE OF TEXAS xZ2 w5 o
The Taylor Fiberglass door described herein complies with the 2006 International Residential Code 3" 00
{IRC}, Sections R301 & R613 and the 2006 Intemational Building Code {IBC), Sections 1405.12, %< § X °
1609, 1714.5, 2403 and 2404 {including Texas revisions} subject to the following conditions: 3 =
1. Anchors shall be ¢s listed and spaced as shown in the details. Anchor embedment to base & f "
material shall be beyond wall dressing or stucco. o 5
2.  When used in areas requiring wind-borne debris protection (Seaward and Inland | areas), 4
this product complies with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC E*
and does not require impact protection. This product meets missile level "D" and includes
Wind Zone 4 as defined in ASTM E 1996, I
3. Allowable design pressure requirements must be equal to or less than the design pressure
rafing shown in the design pressure chart, sheet 1 of this drawing. ! |
4. Conditions not covered by this drawing are subject to further engineering analysis, "
'.......
<
TABLE OF CONTENTS a
SHEET# | DESCRIPTION %
1 Typical elevations, design pressures & general notes -
2 Door panel details D 9/27/12
3 Horizontal cross sections SCAE:  N.T.S.
4 Vertical cross sections owe. B:  JK
5 jFrame anchoring X 37.50" x 98.00" | +65.0 -65.0 +70.0 -70.0 cHe. 8v:  LFS
6 Bill of materials and components DRAWING NO.:
NOTE: See Sheet 2 for hardware design pressure fimitations. TX—4249
sHEeT _1_oF _6

Ri\A - Projects\Project Folders\Proj 1601 - 1700\PF 1673\D. RWBC Drawings\Texas 2012\TX-4248-49.dwg, TX-4249

@ 2072 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Foiders\Proj 1601 - 1700\PF 1673\D. RWBC Drawings\Texas 2012\TX-4248-49.dwg, 2 (2)

CAP [(WOOD)

3.5

|~ 1.75" —=

- 0.6 HINGE STILE
(ENGINEERED LUMBER)
35.75"
PANEL WIDTH
4
AT 1
v —
2 2 %
5 =
5 2
Q =
= o]
8 5
SN
T
o
L
put
2 &
< S
o> 0 a5
= X 0\ {
DEADBOLT: SEE TABLE
PASSAGE LOCK: SEE TABLE

@
. DOOR PANEL
Taylor Door

w/ Mastergrain fiberglass skins

i5 CAP (WOOD)
LATCH STILE —/ 0.6~ L“
(ENGINEERED LUMBER)
FOAM CORE
{POLYURETHANE - 1.9 PCF MIN.)
7/ 1"\ HORIZONTAL CROSS SECTION
\2/
./
/4 TOP RAIL
(COMP))
/4
)/
R/
HBERGILASS SKIN ‘
{0.090" MIN. THK.} g
-
/4
y /i
/A
KNOB: KWIKSET SIGNATURE SERIES *
KWIKSET DEADBOLT:  KWIKSET SIGNATURE SERIES (780) 70 pSF %
KNOBR: "F" SERIES
SCHLAGE DEADBOLT: "B" SERIES 45 PSF +

m VERTICAL CROSS SECTION

\2/

ul
g
b 0
g? o 53
E= ¢ L8
i d8 By
w® Z n Gt
Fo
c — i‘
8 22 F=z
2 2@ 5o
> HITe nk
i ]
S on ﬁé
" amn A
& Od gﬁ
v 23%F u
g =m0 g 0%
¥} q.c a
¢ 292 gp
L fod 35
.} [
£ E
2 [
: 35
3
[T
&
o
4
& =
S 5
EkQ [
[«1%s] sep ==l
=< |2 2
ﬁ:-% gl &
w19
2 148
= x| &
O
3 C
S &
o o
pon
m
7]
=
o
%]
[0
B
<
[}
O
=
DaTE: 9/27/12
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4249

SHEET 2 OF_6_

© 2012 R.W. BuULBING DONSULTANTS INC.



TONT BANVLITIENGD SNIAOTHNR MM 2102 G5

Z6eLl—d # NOUVMHISIORM 40 ZLVDLNID SNOISIATY i
SUIANIONT TWNOISSIJIONd 40 Ouvod SYXAL SNOLDIS SSONT TYINOZINOH AH alvgd [ON o~ vilx _._S, @ 6_
nea - 3 X
S85EE i CopoA 07 X08 0'd \Sv@. *XIENESSY 0 Lavd W M - 3 R £
*ONt *SINVLINSNOD ONITUNG . . 21 3#
4004 SSY19438i4 @ 5| 5|2 a |
£ZiPOL# Td SVXAEL HOTAVL i w gy w B
Tl WPIMYSS d uopuly kg peindeud suBWINDOG :19Naoyd HEIEIEIE z
(4]
2 (=)
T
& 3
& g ] 2
‘ z
_® &
oy
=
+ B
|+\1 I 1 M md
i)
o B — O m WN
nZa ~ = Olva
SGE o =28
2 g
) \ £
)
o o
o O
[a% 0or
Li T
—_ [
5 Z
\\

0.15"
—wt [ C'SINK
(TYP.)

©

alse approved

71"\ HORIZONTAL CROSS SECTION

w Inswing shown - outswing

EXT. SHEATHING —\
DRYWALL /
23 40

A
30
4/

4
4
ELEVATION (X

2
4

<
o
©

() € "Bmp 61-8HTH-X1\ZT0Z Sexa\sBuimesq] Jamy "Q\EZ9T Sd\00LT - TO9T [Oid\ssapiod palord\sioalold - v\rd



CON| SINYLATINSNDODO 9NaTing "Mm's 2102 @

zS8LiL—4 # NOUVHLSISRN 30 AUYOLUNID 5 SNOISIASM TN
SUIINIONT TYNOISSIION 40 QuvOS SVX3L SNOLLDIS SSOND TYILLNEA N sl o o 6_
LB16'BG9°CLY I'ON euold : ~N =2 I
$6GEE “14 OOMIDA OCZ X08 ‘O'd \E«@. "ATENISSY HO Ldvd N _M < 9| °
"ONI ‘SINVIINSNOD ONITINg SNl O B -3 4_

¥00Q_SSyT1oM3ald o |&|E|g &

CZL¥OLF "Td SYxal HOTAVL i m i | w m
"T'd WPIUYSS ‘4 UOPUAT  :hg peubdeug BJUBWNDOQ $19N00dd S HHE &

O
z g
ill
= =
n i
5
Sﬁ
8lI5
&>
Jc
-3
< e
Ulg
i nm
9|5
>0
o
o ™|
[T
T
£

wWOQOD

(323

CONCRETE

EXTERIOR

/l

%
N

\‘_‘/ Shown w/ ADA threshold

INTERIOR

CONCRETE "4\ VERTICAL CROSS SECTION

wOooD

(dALl

== ANIS.O
-_m _-AD

—
/ EXT. SHEATHING

VW= _‘ N
.......... z =
e 0O
m-w m o =
or w2 (@] .._....w
5 o & als
/ sl g = 215
Qo i Q|8
| e ik
C W [] C»Mg
328 =
Ulog Ul o
=C 0 =ic
B ST i ER HE
/ T > EB B > E
\ ! [
—|r O o=t
i o o
: (® 2 z
z & Z
o =z

(Z) & ‘B 682X 1\ZT0Z Sexo1\sBumesg DaMY "A\ELST 4d\00LT - T09T [oad\siapiod 1aloid\sialod - visy



TONG SANYARASNGD BNIGTHIRE "M'd 2 102 @

2504 L—4 # NOUVMISIOZN 4O ALVOIILNID SNOISIAZN i
SHIINIOND TYNOISSAIONd 4O auVOE SYXaL ONIMOHONY INVa4 Ad 31vd [ON o~ slxlpl o 6_
. - - N MIE] |
CBSEE i ooLion OcE No8 O \S‘.@. TANISeY H0 19vd N ~ S8
"ONI "SINVLINSNOD SNIQUNE ~ E 5_
4004a SSv194381d4 o iB|Elg ol
£ZI¥0i# "3d SVIGL HJOAVL i m g | s "
A9 pedodeld sjuewnooyg :10NG0oU SI21E1& W P
® .
<
_ &
a m =
S <
ZEE Y Nk
Ly
/ﬁ : Iﬂm w_w.w..a nNu
‘ - el x
x
1
) e ®
— :mN. wm -1 T ._m.m
o
_ 3o
_ [S=om =l 7 L
.* - . - - [I.Mllll.!.;ﬁ . . - m l.ﬂnl
&
WaL'8F _ | J «
3e
u G=CIN ! w|
* - - L] . L - £l n m m
a
. . (dAl] 20
CE ] Iw: J XYW SF L j
‘ _ (1]
M l l I | l
-
= O
prd
2 \
<
ol o) X
Py a < / M ¢
o X - 0) <
O 2 x W Zz =
R 0
i = =3 Z //, g
= =
9 a _./f O
o sE | | | i
ZZE /
> O m !
nBg
z2<0 =
0= = <9<
— il
w w ) <K A
= i £ m Z8
O s = =30
o _nlv o o= = Hﬂm
258 2= Bl
o == =y
<=E& T < & O
m (SR a! ﬁ tm m z
- & Z o 0 ®]
N<< w O
m [
T o~ . . . . . 1 X
I WS WSl £ar £ t )
bl =l Fatd bt =
IV 40 dOL _ . | . | .
EOMU_ :W.O_. [ ._mN mN I u_mN. WN hanll Band :WN WN

{(2) S 'BMp6-8bTH-X I\ T0Z sexd \sBuimelq Damy "a\E/9T 4d\00LT - 09T [oid\siapiog Pafordisafold - vy



R:AA - Projects\Project Folders\Proj 1601 - 1700\PF 1673\D. RWBC Drawings\Texas 2012\TX-4248-49.dwg, 6 (2)

BILL OF MATERIALS
WEM# | DESCRIPTION MATERIAL
B 2X FRAMING (G >=0.42} wOOD
C 1/4" MAX. SHIM SPACE -
J #10 X 3 PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW
P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN, EMBEDMENT) STEEL
1 JAMB - FINGER JOINT PINE WOOD
2 JAMB - POLY FIBER POLY FIBER
7 WEATHER STRIP (Q-LON] FOAM
8 DOOR BOTTOM SWEEP VINYL
18 4" X 4" HINGE STEEL
19 #10 X 3/4" PFH WS STEEL
#10 X 3/4" PFH WS$ {Wood Jamb)
21 #10-24 X 5/8" M.S. w/ 1/2" STAFAST INSERT P/N D102413 (Wood or Poly Fiber Jamb) STEEL
#10-24 X 5/8" M.S. w/ 3/8" STAFAST PRONG TEE NUT (Wood or Poly Fiber Jomb)
23 LATCH STRIKE PLATE STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
26 DEADBOLT STRIKE PLATE STEEL
27 REINFORCEMENT PLATE STEEL
30 INSWING THRESHOLD ALUM/COMP
31 QUTSWING THRESHOLD ALUM/WOOD
32 QUTSWING THRESHOLD ALUM/WOOD
33 ADA THRESHOLD ALUM
40 DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR )
CONSTRUCTICON DETAILS
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge disfance to moriar joints,

2. Concrete anchor locations noted as “"MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W

TAPCON® | 14" 1-3/4" 217 ¥
ELCO LiJ (1] n n
ULTRACON®| 174 1-3/ 1 3

1.25"

1 |-‘— 244 *F 213
( : ) POLY FIBER JAMB

i‘ 4.5¢6"

75"

T Sany
===
N DYV YV
@ WOOD JAMB

A5 ——=

1.15"

i

INSWING THRESHOLD
By Imperial

4.5¢6"

1.25"

o 2.5 i

31 OUTSWING THRESHOLD
QOSH by DLP

— 5.44" -

].25"

=,

32 OQUTSWING THRESHOLD
By Combo

5 5"
10.75"

2.5

[ ]

@ REINFORCEMENT PLATE
16 GA.
(Inswing cnly}

i 4.54"
M
(33)0Asu

e

ld
o
53 2 o
S 0 ﬁn
5‘ .o 22
v dgfR o7
;E2
c b= 3
83 Eﬁd F
[sX+]
5 HI3 pE
A>n @E
ga® o4
& QN gw
2 2%% ur
£ 3% %%
g 3592 Bp
& [ A 08
m =
2 § b
c k
P o a8
5 Q
o
o
[a]
| e
o g
S8 [y =8
%3 |3 =3
[ L
& |3 &°
& (3] 42
N 2 =
5 gl @
a (=
S &
0. 0.
>
m
73]
=
o
3
|
[
=
<
(]
Q
=
DATE: §/27 /12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFs
DRAWING NO.:
TX—4248

SHEET 6 oF 6

© 2012 R.W. BUILDING CONSLULTANTS IND.



